
b=4 A a,=

Íe R- I..J

/w@ "
x!1-v.) = ̂ -Á

*-t^t9=r n-
-Ar,h- 

V!,o/b' 
'

b=A ,r A+A Qt^t^' ,í l a+r

kA +wi'
x (a-6)-- b-<x$-4)= b-a

0x = [-a

ffi;t.
dťsa

t f )  t  n ,  I  1

A{ d.tš,w^q (\Mililhe,

ťou-{",-.o 1^"* 4n X 'f b^b =on

o2x *Lb =o.- ,

(ra-tl5oP): 3x + Uq,ůťťo^.a sčL|eJ
(vup,baoo .

ď"x,,,^,| ÁtoL^L e'.,,t^- cl7.*aar r*,. (u^d--ae^ " &,L-o"*r,
pzL- kswrrÝ',ai*nu z t!bl,,!,o P4,1.4 . 24. zŠ

fuM, az pa,.vtatr- |ú,,,*v t* óň^I |rfu 
plb-

Acanó pu,t,-ul^-E eA,^( p"-&. dad,.J W,r .
L(\.ilÍl,oal , ě,fu ,

P"4 P,/v^O ( l,,d'n,ie u aÁl+V.z- no^ +Ů.' r ,  
A  . U , ) r ,  A  ^Ax \  

u  I

a)

otb . X \ J ,
V:e e-Lu,)

5=4 r Q=l ( €  R-{-4}

b=4 , q+Á x eď

b*, l  tdť 4 y= i:o -
4 - b

9x



4x-|tr=-6
6r -aň-- so

F.*r
OAo',v.,Ln;3,2--3 =G3= 3

?o =3 
iLa=?o

Éla

:40

16 l:g

! =L.L 'Z.(-3)=4+c*to

Pz= ,tÓ t Lz=?,

Ý:^,+,,* |buunv. ý 4 ěů,,,), ,t-*2.x =-3 \ ̂ - aru-,^a*a /1u-
ďud.+ /t4rěuu.,J d4v. rz i-ul 

l

b) (4flrsoa) .. h x +3,y = -h
6,x tSlr,__tr

3,4=^h-ttx lr3

f  , -  - 4 - l r x
br+5. ' i ' '  =-?' (

6 x + -2o -r0^ __ _? l.t
9š

4 € x  -10-1;  r  =^Ll

(Du&,'r* dpsasu,e,

lvW.loa-u .

,=!-4á = -+-2 =.9'-- -2
A3s3

E

U
=. ča^J.u,|a^ ď.u"u,af

ě,,ya . L*;-ú
{x---{ t:Gz)

c) tr +36. = A &,(ffi'r-l.s
l. t-r; P.úa,,

@ťť.'[s. -n

KJ5r\h'irÓve.t^to1,a,

I

Cx ť9q =3
U

-6x ^Ay =-18
-

,2x +3 .({)= /

1x-3 =t

56_- _', t:r

!2, = 'lo

E
l :2-



i l  Yx+ 3v = loo l. Gz;
0

4\r +4 ' ero

^4Ix4q - -Opo
C'

4hx *4a = 9a,
-

0.x +Og = o
Ý',-+o,,^ 1ot*tar- N

PQ*ó,ultlr.. ř4.14ře,,O

É:bu*|,

e-) 
t= 

-2" *s
nó= ̂ 2,- l  | .G^)

tf,---2x +5
^y=2v +?
07: 0x + Á2.

^0x+o,I= lL
,ť';il",* 

/b|bc.
ďd&,d, ůxal

{l (x +t ).r.F-2) = (x-s). í6tt)
(x$) . (H*a) = (x-4) .(t+z)

-------------r--

í\

[} 
Ó|,č pl,,;c, 

Wt^t|ty.,<
\y p*tttv. 

,Uf^,
-7 +\x^L

//4/,o&jre,\ po,.s-furo- (nw.tb :

2x - 32 =4 t,3
^3r +\iá= l I,z

6x-rt=r,
^6r +lh\ _ g

St6=9P l:5

.2x- j .4 ={

.2r '  4 +{)-
l v  = 16 { :2-

-Z'(M at,5a$a dasah4lskL w4lJt *
tť.'h/-! bo^\ d.r 

É@ d,,il
(p^^{^ scus{ 

- u

L-- (e+4) .A-r3tff'
P,l .= (&s) .ťe+q)-- 3.8=Q! ) 

Ln-Pn

(a+e) .(*,t) -- ,1l.g ={2 \ r ^D
(a-r ).(4+z)^- ?.G = 42- / --"

t -

Pz'

.Ž

e"-Y;: [o;tJ

%)
2x +Á . 

.]á*2 
q,. - t1 l Qa-,

s q =28* O l.3b
3x-^ 4.{+z A_A-"-t= =lKž q) l. lv O 6 csx--4)+a C* +z) =tk (f x1)

4Bx-6+)B7 ř8 =4ax *,ď
-30x +52.5=-2 l:(-z)

@E,/'_\
@

@ Ť (lx+a) - st3;tl) .s Q.á^*)
/lrr +? _ ̂ T _ro =y--3Sy



lryr*r-*J pa3u..st..a&:a.

AA x -85y =3

15,( -%ty . r/
-

/5^ = 4+)61 l:,{S

x. !*%z^s

Ao +ana6- A77sX= d5
^t =-'t t 'G4)

,l5x.Že,h=/

,|5r-,tot{ - Á

45x =(oS

[*+l r
| : { íhg.^+Yw - -gs.,'.3 l.,rs

h1Q-%ď -azr57 =lt5 úKů'[+.l]

- \  I  -

h ) *{2u /2a or )

r-4 atr-rL5 - $*'. =/t I .(x-a) .(6-r)f ft=/l 
(x-a) '(6-r)1*n-^,"rr*1o^

w Ť=o|.(r-,) 
(6*l ) x+.{l Xt +. ?+t2.

(2r-s) (b -1) - (p+n )'tx - a )= (r- | ) '(6 -r)

1}-cDt{ r(at t' '

K^7=2
-Sx +41-*-{3--_--{__

X=A+uí

-s(rg )"h3. =-4b
^,{o -5tx+{7 =- 4i

-/ř:.3 l.(-a)

2ft ̂ uy-4x r ̂ o -ft - ̂  :\ 
t4 =fr -hyrx +R

..3x 'tj b = -e [:Gs)

{-? =

(sx +,r)- (g +>) - (oJ t e) '( x -,r) =Cr-l) ' 07+>)

I*6+7 ie^ +2 ̂ 9x7 _9x +E7a9= KLť-7 +9-x-2.
.íí +rr9 =-4

y/Ar,,šá:.
I  -4.5-s 3+lh=.ff-ř=$-4=4

Pr=4 rLr=Pn

L,= 3.5tn - ?}-ý = 4-3 =,l
s ̂ 4 3+>

P2=4 tL l=Fa 
'

ó"X",L. ts ' 3J
X.2+3 Fli-



ArW prcrc,lop Ofu2da!!,rv,V. ťci'4d'w [*ú^*l^,
EťL.' !or\'laa'J P.,.04/rť,b.q. ,

Qůyl,ay,
a) (3-/%on)

9-9=oxt
Áo,G.Y_

e  t - - =  |It

6.+-3,f;=ct
n ó

b)(3.tr+"nt

40r4=4
x+5 Ůr.
2s *L =4
^+5 brz

, t0.4 t l_=4
x+s br-

"s ** r|.k=n,to,* +d't=Y I
ffio,

I
IV""*'t'uct

J-{-=(?,4 '=b
X+s , 

Ť,

6.- 9b =o t '5
AOq +Gb =? Í.C3/

3oq - h56=o
.&q ^ ÁBb=-U

_63b _^U (.,G63)

&.^ g't =o
6a-S =o

/oo + b =l [. Cr)
)Sa +)b=4

*oo-9b  =^2

)Sa +tb = t

/o.(. $)+b='t
-).+b = /

4e ao wÁ,
_4-=- i
x*5 5

4 .13
b*z

c>(&d^

J. =L
t ( Z

r
C)<^a,^ýo,
Ln'2-t=3-3<l

Y^' tJ 
I 

L^:Pa

Lr= E*f , S+)=?

Qt<,o,^&^o:
,4

L,= AO . i-=.2Ť3=,t^,Íd+s -ž +2

Pn= / 1 l-,t=P,

rDR-2
\= -" .+-=-:-$a$=l

^ío+Š -) +z
Ď

P=t| , l- . ,=P.- t

ě"X,L., [-a0i-:r

&
L=4
is

5= -x-S

@

Pr= Ť , Lr=P*



c) (?aeqoa\

XŤ)Ž -f,

4

4. 4 -s. n

o =- 4
.. t\ í\ /s.{-/+'t S

o
5-- Áx

i l3
= -  -

X*4 -3 .{ -4 *S 'ls
:_; l__.J__2

g+.-;

3.{ -2b =- 
* 

l.q

{a-sn=^-s lGs)
/le. -9b =- +

{b
*42o.+,15b- ^ 3-

45

x+%-L 5

ř x+%-3
^+u =g ť{- =Cl

x-) t3 3

X= n-26 t3

2-A
- Ě - ..:-!-

3t5

2

?5= t t.! L.-_.--\._J

ř.}" 
sotstalr.

3*-l.t =- #
io-t.. ̂ *

3o= * t$

h.Ř7 =u

4'4
W

4 t2.2 -3

n> Á t -pra=-6 
\  

L t=rt

t t t- z>  -
/-+22-3

4_2.)_ t3 5

4-2.2+g

q-

&b l+, rl



f(Žn-v 
_6 

Y,,y |v "p ryPogY 
-*-13:Í)

I l z.ř6 _tY. L

ItrE
LÍ,,z, t,7=sz,|,! ř.Ť,P ..,Ío,,q/ | 

asr -- Bggl

r,P"óitre| :m á='7 ' b. :d I

ffl-a=-l'S*.dl -C+ =z + reC
-S=).6-?.t+V't."'1 

| 
,ry-s -3y-Ltb

| ,ffi 8=[.Ž+tr.L-}.6=hI l r?B'ro'tr6 
I 

' n$lrrl 1 oC=zg^ (s.t+ xtry
r | ""+.noý 1'.rr l
zExr I 

t-'-"'"W

) w g--tr'l+z'Z-xC y' 
lř_=zrt_ 46+x9_

@ .Gqd,ěw)CEaeŤa5wp -E

I u'ro -tY'L

ffi
88*, -- P,ggt

Lh= z*

'.-7rrC n M-r-='-C aYp
I yfrÍT{}

.\@P3ry1 
r-u;"'tl'v.} ,r--t ý Yr<,T]

, z,L.fx.,rsl1 q) í.-*Ť.n +x'l P.,,v-|Ťywa -?^il,Wr

s --z[+ 1,6* vv-

!= .c- 4rr+ yt

8= at* 4Z- ,f

=*ol 2

I as€tvl rV ttn G
ÚP lvaasvrz o\l pwt4
rerne;,snod Tť #n
Íp- ztc| B\ + yb

,? = z.zo* 4"g+ x.V
lp= z,cr ?,Ť X,p

,W"oJ H f-\f"1ry
-Ýry)oý c,

n ' "'-- 'l,rn
V , tl
/",,ÍTT75Ť|Ň !a^p Y,oDq

hl-= zYl-



>J,>Ťýd |;qY 
(ób

.-.-----^-----\ \-7
f-T--*

Lá{ rE=r
t=*c l% o=€,. g_rcJ 1.r-= ?žr" xol.

'A+9f, = zt7+y)7

é;+0) l= (z+ x ) b
e= hb- X

.zrrulsnvg 
f s -.sf{

-s .l -1ro.] _-ť/td 
J O - \t - Ýú \

7'l ( zi-= {r*rs* /
l"l t nH

KSy-XA=-T,l+xq

46* tg= rg
( 8z+r) t=xS

(PS-t:l t= (?1.15;5

zE-+ Blrer*B;lI * =-.'1.{.

ťar+x)s.l *=+
(es,.E).r.t *=*p b

Áy- +l
I*rt
o+ Bg*;

Lhsbj6J; ffi
?,=''t . s,ý =tl

3'V .7+ S'o* U-= tT

zd="1

ol =.d
Q| -9Ir?- =4.l $ (-6-).E .?í

á=,l 
.sb6-=á

_9b6 _ _
oc-s! t h-. l, S-s'g.t,+ (<)6 rl

s',.- 0t
-s'6Ú= oG- ("* tF

Sř-ř -s- 8g + (<'. U

ol: Zrf+ It
/1

*,,??k|, r,.| 8y - = aÚ-Jg

ffi
Stc_ __<s_ g7+ v6

r.l o
@

o)

@_E a?d qp ?l'2,
o).. ZIí t 9-

ot = zl* (r-l .f

oy = z|+ Xf,,

7t---zY-xov

srP*z+ L r\
o| =ZYŤ /! 

)
J'6G---7S - Q+x6./ 1q

eT- --Jg1

l-,r^ttXr-$,, 
9u @e



f o=Ele g=$+ 1.r,

@
@
@

O B:< n-F z+-&tf

o 
'w 

@ T =P- z- %+,t
),p,v},an,W,t,d!,v*.JWY,il ó -9- = ť + z6 * a+,

I *-1/.a .v"''l,-'e"vď 2 aď
. !22?ío.l/'YU}0 y,"lP"ď*

]"''.ť z.\ftÚršn"rď h,Ul u<r1rryP nr,ů

..,n|,"7"l-,a) 
rď -.*.^r,d 7 h.'""; 

T;,3,p

r/ 8- *-.1 h- \f

@s'hr$ /(z-t-l

- r.,
o) = 6L+ tq
Gt -= 8z- u ,-

o
o}=až+Xs

úz

z(,4 xt1

@o a,
ffi

@@
t-

r(

aY-=!; I f,-=atr-+ xt

Gt@

-*,PW, n=y n."-*|",,b'-,ň

[[a,a|g.r lttJJ =x "řrl !a'? !g.,y !r,57 ,ru-J [* ,t , * ] : .r|#l

.d=, a-. , !.ta , +=trt'e[

á '-.s
. \t t z F 6'5-OI'S ká=,1 .ř.?l .š=-Ť..-= --
' I v'/ 

rov )**'6=tl:o26tnv'o

Zs - j t-* t

rs-t
Ire,ZI
4G.zs



0áě d. G)
t +o - 2.3 ŤU c.-$

@
Q"t-a"čte lla.)n., -D..3 * 4 -- L-il^a- -s ( Pa=-s, Lr =Pn

Ll-  2,L + \, . -B_Ga) i  h  ̂ B+4 .21 pz=2 
r Lr_po_

L3r3.2 + Ó +3^ 4" 6+3 .4 
" €  , F. = 8 , L3=F.

l*,. )ro +3 _ Gal= D+B+4=6 r Fq^6 , h_p,G"n , f:..,o, *4 ,il
l^r?,u,zJ

t?n /
J-K}ý1/vL^-:

2.t + P.=9

trq

-_--_+_

)*;H#ffi
6-y{^,^X ,  t  (  ( - \ :  (wžv- .

W I b\,.o1.oi (a,M-q,r řt'€/ó n

nt  f  ,n^ ^^tn0a^* 
Á)a-+b|hdz

a:Fb = I

oq.-3b*J

c cŤ-o=9  I  
- )

19*J b + 4 = 4b | ď,Xr,'.*ťu!,. f.,ou ť/4j., 
/,ct,u*L ,

[A;=6-? J.--, /Ba ̂ -{s 1;1s
a-+tc=9 tq t^ 2tb=3 =ÝlbR_l

4oct-3b=^,í .-'_ l c^,,u l D+}-o
3q t36 =2+

40 q - sb- -,1 I nr^ 
LQ+ 4 * LB 4' Y'LB
,,.2. F 1?_.

@pň*J l x+y: l0 
r 'ř: to /. y 17 W:F1

á=loIt0l-
| ^o_A = La{ I x. io_ frx = to-r r a, i6-,u J 

m
@


